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Q.No: 1 Which of the following matching is not correct?

2427511
% o w1 e wd T ¥
Jawahar Nehru Cup - Cricket
A
AR 6% B - fbe
Nehru Cup - Football
B
5% BU-Feard
Nehru Trophy - Sailing Race
c
A5 T - Hemar W
Baton Cup - Badminton
D

Yoo 39 - Sefie
Correct Ans : D

Subject : General Knowledge

Q.No: 2 What did the English document of the Magna Carta in 1215 establish?

2427579
1215 ¥ o Fef & S Randw 3 1 R e
Everyone is subject to the law (even kings)
A
TP B b 3 § (T6t 7 o e o)
Free trade among nations
B
! F S g SR
Women should get voting right
C
Afgenel @ f waar o1 sttt
Funds for small businesses
D

B aunl & fg s
Correct Ans : A

Subject : General Knowledge

Q.No: 3 What does I stands for in the term IP in terms of business?

2430703
FauE F Gef # 1P veg # 19 0 aed §2
Intelligent
A
edie
Incremental
B
Seided
Intellectual
C

$edTgerd

D Induction
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EcEaEl
Correct Ans : C

Subject : General Knowledge

Q.No: 4 The Madras session of INC resolved to boycott the Commission and challenged which of the following personality to draft a constitution that would be acceptable to the Indian

2432457
FHI F IS G 3 SR F1 IR F3 H1 Ghey fomn iR Fafafaa & I fra affig & 1 IfRyr &1 1 TR 3 31 g & o YR 99 31 ©ier g
Lord Birkenhead
A
CISACIC L
Clement Atlee
B
e Teeht
Sir John Simon
C
S A
Francis Hirst
D

Witk e
Correct Ans : A

Subject : General Knowledge

Q.No: 5  Who among the following said that the Quit India Movement is by far the most serious rebellion since 1857?

2433571
Frafifea & 9 fe Fe1 [ WRd BIS! Sfidle 1857 F 916 I 314 7 & werdt 1R fasis &2
Lord Linlithgow
A
S femferriy
Winston Churchill
B
e affa
Lord Wavell
C
e Jaa
Clement Attlee
D

Fie TEll
Correct Ans : A

Subject : General Knowledge

Q.No: 6  When was Value Added Tax (VAT) implemented in India?

2435786
e aftfa o (3¢) URd & o ¥ an] frar mre
2005
A
2005
2007
B
2007
2008
C
2008
2017
D
2017

Correct Ans : A

Subject : General Knowledge
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Q.No: 7 National sports day 2021 was celebrated on which date?

2437140
Pt W feaw 2021 59 G BT HAw@ TR
12 August
A
12 3TRd
29 August
B
29 Tl
6 June
C
6 311
29 June
D
29

Correct Ans : B

Subject : General Knowledge

Q.No: 8  Which of the following is called the ‘Land of Golden Pagoda’?

2437364
Fraferea & 3 fd Tie Tive &1 yffr e o 82
Cambodia
A
Hafsa
Myanmar
B
AR
Nepal
C
e
Indonesia
D
ESEie

Correct Ans : B

Subject : General Knowledge

Q.No: 9 In which year Madhya Pradesh Karate Association (MPKA) was established?

2440918
T Y FR1E TRIRITIA (MPKA) Ft T g af g€ e
1999
A
1999
1986
B
1986
1983
c
1983
1979
D
1979

Correct Ans : D

Subject : General Knowledge

Q.No: 10 The Treaty of Bassein was signed in the year -
2441114

g af aRA 9 9 R gwaer e e 22
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A 1801
1801
1802
B
1802
1803
C
1803
1804
D
1804

Correct Ans : B

Subject : General Knowledge

Q.No: 11 Who was appointed by Prithviraj Chauhan as the ruler of Garh Kundar Fort?

2441162
TR I6H A T Fox [0 & TS & w0 § 5 fged fear e
Rudra Pratap
A
*5 U
Khet Singh Khangar
B
¥ i T
Shayaji Parmar
C
RIS RAR
Raghuvar Parmar
D

YR RAR
Correct Ans : B

Subject : General Knowledge

Q.No: 12 Where can one find the standing Jain image/jpg of Digambar sect known as Naga Baba?

2441205
A 1T & W e ferer doer Bt wg! o wieH det e Jebdl 82
Neem Sarai
A
W
Khari
B
genis
Ghansor
C
TR
Joga
D
S

Correct Ans : C

Subject : General Knowledge

Q.No: 13 How many gateways does ‘Mahastupa’ have?
2441385

TERYT ¥ T ER §2
3
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4
5
C
D
7

Correct Ans : B

Subject : General Knowledge

Q.No: 14 Which of the following funds the Madhya Pradesh Rural Road Academy (MPRRA)?

2441505
Frafefed & 3 S Aume ario 9g@ srereHt (MPRRA) 1 fAfY a1 82
World Bank
A
oy ¥%
Asian Development Bank
B
TR e ¥
New Development Bank
C
= Sqauie §F
IMF
D
. TH.T.

Correct Ans : B

Subject : General Knowledge

Q.No: 15 Who is the present Lokayukta of Madhya Pradesh?

2441752
T T & TG DPIYTd B 82
Justice N.K. Gupta
A
afd TP, T
Justice U.C. Maheshwari
B
A L4, TR
Justice S.K. Paola
C
s Te.F. el
Justice Vishwanath Shetty
D

Sikew fayemy g

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Which of the following district of Madhya Pradesh has the lowest literacy as per Census 2011?

2441768
SFRIOMT 2011 & SAFR A Yy & Fafafea 3 3 fra R § vl &1 werad 82
Ratlam

A
T
Agar Malwa

B
SR AIET

C Alirajpur

GET IT ON

Google Play
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S{ARISYR
Jhabua

rgsiT
Correct Ans : C

Subject : General Knowledge

Q.No: 17 In which year did the Madhya Pradesh Government launch the ‘Gandhi Darshan’ scheme and the ‘Van Mitra’ portal for tribal welfare?

2441843
T TR WK A 758 a9 onfeart Feam & fg i A dem ok a7 f dida <t fem are
2014
A
2014
2016
B
2016
2018
€
2018
2019
D
2019

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Who among the following is the currently serving Finance Minister of Madhya Pradesh?

2441844
Fofifed & 3 o1 adam ¥ raww ¥ g 5
Mr. Jagdish Devda
A
ot Srrdter dast
Dr. Manoj Govil
B
S, T TMider
Lokesh Kumar Jatav
C
H AP FHR wed
Irene Cynthia
D

3 Rifda
Correct Ans : A

Subject : General Knowledge

Q.No: 19 Ramanatyam is a dance form of which classical dance?

2442344
JAICTH o IR T 1 T w9 87
Kathak
A
Eaca
Manipuri
B
Ao
Kathakali
C
YDA
Bharatnatyam
D
HHTETH

Correct Ans : C
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Subject : General Knowledge

Q.No: 20 Who among the following established Shanti Niketan in the year 1921?

2442492
frafered & § fowm af 1921 § ifd FREaa 1 v 32
Ravindra Nath Tagore
A
wditg T TR
Mahatma Gandhi
B
T it
Jawaharlal Nehru
C
SR 6
Subash Chandra Bose
D

U % 9

Correct Ans : A

Subject : General Knowledge

Q.No: 21 What is reflection from a smooth surface like that of a mirror called?

2425785
Tdor SR R g § WRIad B R FEd 82
Lateral inversion
A
e ST
Irregular reflection
B
sfvafta vfafse
Refraction
C
S
Regular reflection
D

Frafia ofefda

Correct Ans : D

Subject : General Science

Q.No: 22 Which of the following device is used to measure the fluid pressure?

2425822
%d T B A & g Fa 7 3 7w Sus=o &1 Suam fban s 82
Anemometer
A
TR
Pyrometer
B
I F BRT GG P YR A9 7 47
Manometer
C
a9 F1 9T
Barometer
D
Rifex

Correct Ans : C
Subject : General Science

Q.No: 23 Which one of the following is not a characteristic feature of phyla coelenterates?
2428770
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THIIRAd H § -1 U WIgal gAYl &l SHIHCIE U Cl&ful -8l g7

tentacles
A
ad
two layered body wall to facilitate digestion
B
I B G & R & wiid R A R
hollow sac- like animals with a soft body and stinging cells.
C
B At SR TR e TR Fma iR o areht SR gt §1
flat body
D
Jure TR

Correct Ans : D

Subject : General Science

Q.No:24 s the physical and biotic factors that are present in an area to support the survival and reproduction of a particular species.
2429135

P & H Hiog Wik ok 9w oRe § S [ ks wonfa & siffr SR wormm &1 W\ axa 81
Artificial habitat

A
e A e
Man-made habitat
B
P A
Natural habitat
C
TPl S
Nature
D
vl

Correct Ans : C

Subject : General Science

Q.No: 25 Which group of plants are termed vascular cryptogams?

2429837
el & 59 g B Yagh RHEm $g1 o 82
pteridophytes
A
MR
angiosperm
B
R
gymnospermsS
C
forsirent
thallophytes
D

AR

Correct Ans : B

Subject : General Science

Q.No: 26 The other name spirogyra is popularly called is -

2429893
RS B epilia w9 | 69 37 A0 | ST S 82
pond silk

A
GlicEai
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pond scum

e i

fairy ring

T8 @ St

smuts

L)

Correct Ans : A

Subject : General Science

Q.No: 27 Ferns is the member of -

2429898
o fpaeT wew § -
pteridophytes
A
S Egecss
Gymnospermae
B
SAade &
cryptogams
C
Srqudt gy
phanerogams
D
Iz

Correct Ans : A

Subject : General Science

Q.No: 28 Observe the following figure given below. This organism belongs to which kingdom?

2429924
Yo
4 few e fom 1 e § AT 7w e 5 U= 1 @2
roundworm
A
T
flatworm
B
wicaH
leech
C
St
hydra
D
Serodrel

Correct Ans : A

Subject : General Science

Q.No: 29 energy, is a renewable source of energy.
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2430178
S, Sl ®1 g i | g
Radium

A
RicuL
Uranium

B
R
Wind

(o}
KL
Potassium

D
GreRmw

Correct Ans : C

Subject : General Science

Q.No: 30 Stretching a gold coin into a ring is a change.
2430193
T T & e P U gt H Wi w uRad 31
Endothermic
A
SIS
Exothermic
B
Feddt
Physical change
(o}
IR TRads
Chemical change
D

IS URadT

Correct Ans : C

Subject : General Science

Q.No: 31 Yeast breaks starch into 3

2431598
dewed @ ddsd s
Snowflakes
A
% F IS
Caramel
B
HRAA
Salt
C
THS
Sugar
D
o

Correct Ans : D

Subject : General Science

Q.No: 32 Who out of the following is associated with the discovery of radium?
2431674

Frofifea § & o o 31 @ § Fefa 82

A Marie Curie
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A TR

William Kroll
B

faferaw wia

Fritz Hoffman
c

free giwi

Arnold O. Beckman
D

srifes o dim

Correct Ans : A

Subject : General Science

Q.No: 33 Which of the following is a non-communicable disease?

2434321
oo § 4 &1 v R gard qm @2
Common cold
A
A e
Hepatitis B
B
Blerfew @t
Cholera
C
o
Obesity
D
et (eran)

Correct Ans : D

Subject : General Science

Q.No: 34 Which of the following should NOT be done in first-aid if a person is suffering from nose-bleeds?

2434336
Ife, fart faa ot A1 & WA 78 51 & o Pufafed ¥ 3 o1 W wufiie IR 78 F afige?
Place a cold compress over the nose of the person.
A
e 3t I R G 31 Wi W&
Make the person lie down.
B
T Y derdl
Ask the person to breathe through mouth.
C
=i 31 48 A ¥ T > i Fe
Ask the person to relax.
D

i B R HH F AT B3l

Correct Ans : B

Subject : General Science

Q.No: 35 What is the pH value of urine?

2439959
73 1 Yige A fe g 82
15
A
15
6
B
6


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

20

20

1
Correct Ans : B

Subject : General Science

Q.No: 36 A is the brother of B. B is married to C. D is the mother of B. How is A related to D?

2422469
A, B®I WIS 81 B, C § fAaiRa 81 D, B & & §1 A, D | oy voR weifa 82
Mother
A
at
Brother
B
g
Son
c
Eoil
Father
D
e

Correct Ans : C

Subject : General Reasoning

Q.No: 37 In the following question, a series of letters is given. Some letters have been removed in these series, and they are in the options given below the series in the same order as 1
2422659 carefully out of the four alternatives given below, and find the one that best fits in place of the missing letter of the series.

ac cab__baca_ _aba_ _acac

Frofefad vy & srerl 3 v yaar § S 31 3 saanell § $o sieR ger fRu e €, iR § Jaan ¥ R fu e fowd § 3dt wu B § S I 3 aifew) R fou e AR fawed! & @ < ¥ aan &
R 95 fdeed @i o 999 SUgH Bl

ac__cab__baca__aba_ _acac

bbbc
A

bbbc

aach
B

aach

babb
c

babb

bcbb
D

bcbb

Correct Ans : B

Subject : General Reasoning

241\12%43683 Select the option /number which is related to 3" number in the same way as 28 number is related to a
1t number?

9:80::50:7?

3@ T /[T & T97 FY S WY TEW F 3 IFR T § S¥ @Y TEA ggel
e ¥ gEd ¥
9:80::50:?

A 124
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124
624

624
2499

2499
3199

3199
Correct Ans : C

Subject : General Reasoning

%"“2‘243199 Select the option /number which is related to 31 number in the same way as 22 number is related to @
15t pumber?

5:7%13:?

3@ TEAT [fadheT &1 797 F S SWY TEA F 5 GHR FaOd § AY gEY TS Tgen
FEI ¥ HERT §

5:7%13:7?

17

17
19

19
21

21
23

23
Correct Ans : A

Subject : General Reasoning

Q.No: 40 Select the Lettered pair that has the same relationship as given in the questions:

2426812
Evaporation : Cloud ?
I 3R G PT 99 B foraeT ey wsii F g e wuH Wey 9§ §:
R0l ; Sed ?
Mountain : Snow
A
i : fow
Pressure : Atmosphere
B
CEICHEIGIC
Book : Pages
C
forame : a3t
Tension : Breakdown
D

g @ ge
Correct Ans : D

Subject : General Reasoning

Q.No: 41 Find the missing term in the following series.
2428323
XDA4, WED7, VFG12, UGJ19, THM28, ?
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frrafafed gaen # g e i SISl
XDA4, WED7, VFG12, UG]19, THM28, ?
PLO36

PLO36
SIP39

SIP39
QKN41

QKN41
MNO43

MNO43
Correct Ans : B

Subject : General Reasoning

Q.No: 42 Select the option that is related to the third figure in the same way that the second figure is related to the first figure.
2433467

Problem Figures

oliel @l

Answer Figures

D |T]| Q] |«

(@) (b) () (d)

I et &1 90 $¥ ol Al orpla I I8 UHR Hafd § RO IR gadt i, Teell el  Feift 1
"o 3naGhd :

G
D] [T @] [=

(a) (b) (c) (d)

(a)
A

(a)

(b)
B

(b)

(c)
o

(c)

(d)
D

(d)

Correct Ans : B

Subject : General Reasoning

Q.No: 43 Identify the figure that completes the pattern.
2433501

?

Z

(7
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3 SHIpid Bl Ugdld PR Sl e ol PRI ddl g1

ik
\NZ

N
N
%
%
Z
C Z
N
§

Correct Ans : A

Subject : General Reasoning

Q.No: 44 Three of the following four letter clusters are alike in a certain way and one is different. Find the odd one out.
2435015

Fuffea IR ser gl # § &t P 7%  99F § iR T o 1 fawe

BY
A

BY

bW
B

DW

FV
C

FV

GT
D

GT

Correct Ans : C

Subject : General Reasoning

Q.No: 45 In the following question, select the odd number from the given alternatives.
2435042

Frofefaa wy & Gy T fawed & & fawn Sem &1 997 Ffm)
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A _—
125
343
B
343
121
(o]
121
216
D
216

Correct Ans : C

Subject : General Reasoning

Q.No: 46 Identify the class that best represents the Venn-diagram.
2435585

OO0

39 T BT UG B S -3 BT Ia9 31 Ui Hear 31

OO0

Men, Fathers, Engineer

A

oy, foa, e

Scale, sharpener, eraser
B

Computer, Keyword, Pen
C

FYR, g, T

Class, blackboard, School
D

Fel, A, T
Correct Ans : B

Subject : General Reasoning

Q.No: 47 Identify the diagram that best represents the relationship among the given classes.

2435701
Motherboard, RAM, ROM

I ARG B} TTH B3 ol 13T T AR F S Ty BT T o1 g var 1
HeaIE, WA, I

00

S~

00

S~

B AN

©

(

GET IT ON

Google Play
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Subject : General Reasoning

Q.No: 48 Find the number of rectangles in the given figure.

2438091
V
& TS s F S 3t W J1d P
4
18
A
18
17
B
17
19
c
19
20
D
20

Correct Ans : C

Subject : General Reasoning

Q.No: 49 Mr. Kale travels 5 km towards west, turns left and travels 3 km and then travels another 5 km towards south. He then turns right and travels 1 km to reach a church. How far i

2438473 |jlometers?

B 5 et afdm Y SR aE Fea T, IS ¢ @R 3 Rt o gE HRa ¥ IR Y a0 ) 9iR 5 Rt T e €1 Y 9 o ggal @ ok U 9 o g & R 1 et @Y amn e €

8
A

8

10
B

10
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12
14

14
Correct Ans : B

Subject : General Reasoning

Q.No: 50 One evening Prajay and Pranav are sitting in a park. Prajays shadow is falling on Pranav, then which direction is Prajay facing?

2438520
T AW o SR WU U@ T H §3 §1 v W e $ o us XE 8, A o o1 9w o A §2
South
A
afgror
East
B
w
West
C
o3
Cannot be determined
D

e =T foran < wear

Correct Ans : D

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440230 gtatement.

If he criticizes the government, he will be trolled on twitter.
A. he criticized the government

B. he did not criticize the government

C. he was trolled on twitter

D. he was not trolled on twitter

3T Ty F 1 FU SR ITF G TR B 1 FUA BT HI0 FH G, T U HU 1 A R HY W 8, SR @ Fy Qi T F 781 Y F W T
IR 98 PR I A A 8, o 3¢ fgex W oIl foar S|

A. I THR B e B

B. I WHR P SfTcii=HT T8t 31

C. 3% fgex W o faar

D. 3 fger W ¢ =gl fdrar wr

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440288 gtatement.

If you take a loan, you will have to pay EMI.
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A. you took a loan

B. you paid EMI.
C. you did not take a loan

D. you did not pay EMI.

o Mg vy & 9B U SR IS 918 TR FUA 1 FUA BT B g W, T8 17d FUH FT Al g8 U 9 B, IR & HuF aifbe U § 9w FU F 9 7
IR 3T ol A § o Sy Sumas & St

A. SO o feram

B.3M0 SUHSE &1 Yrar s

C. 31U Fof g1 feran

D. 319 $THSTE T YTaH el foan

BC

BC
BA

BA
DA

DA
DC

DC
Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440344 statement.

She either wakes up late or early.
A. She woke up late

B. She did not wake up late

C. She woke up early

D. She did not wake up early

fu M gy e B SR SUF G1E TR FHA §1 U BT Hivd TH g, SIel Ted HUT B ardd guk HYF I §, SR <l FUF dfhd FY ¥ T FUF § T 7
I8 A1 @ I F Ioch § A Seall

A, 98 XA T

B. 98 X 4 T8I 33

C. I8 I 35 1§

D. 98 Wedl ol ol
cDb

CcD
DA

DA
CA

CA
AB

AB
Correct Ans : B

Subject : General Reasoning

Q.No: 54 Select the option that is related to the third term in the same way as the second term is related to the first term.
2441945

BUJQ : FYNU :: SCIP : ?
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I e &1 709 FX ol R 0% § I TR T ¥ 9 THR g1 Ue U5 ug F HEha § |

BUJQ : FYNU :: SCIP : ?

WGNT
A

WGNT

WGMT
B

WGMT

WGLT
C

WGLT

WGMU
D

WGMU

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.

2442008
Uncle : Relative
fou g fowedt § <efid s &1 79 B
T : RRdER
Judge : Lawyer
A
W TP
B Spring : Season
Y« B
Father : Mother
C
e forar
Brother : Sister
D

WTg: qE
Correct Ans : B

Subject : General Reasoning

R )

s 2 (2]

7 3 6

1118
168

1118
168

w|g

w|g
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Correct Ans : A

Subject : General Maths

Q.No: 57 Find the amount of Rs.12900 for 18 months at 16% per annum, the interest being compounded semi-annually.

2423634
12900 ¥9Y I 18 HEM & T 16% Ul 9 3t = 9, S oref-anfifes <3 &, P o s 31 vy iy & g0
Rs.2587.2365
A
Rs.2587.2365
Rs.9870.6518
B
Rs.9870.6518
Rs.2345.8761
C
Rs.2345.8761
Rs.16250.2848
D

Rs.16250.2848
Correct Ans : D

Subject : General Maths

Q.No: 58 The present population of a town is 123500. If it increases at the rate of 12% per annum, what will be its population after 2 years?

2423660

TS HW BT adHH SHEET 123500 B1 3 78 12% vl o 31 & & wgdl §, df 2 af 91g 3wt e 91 gui

3456.71
A

3456.71

154918.4
B

154918.4

45987.5
c

45987.5

71256.6
D

71256.6

Correct Ans : B

Subject : General Maths

Q.No: 59 At what rate percent compound interest per annum will Rs. 3240 amount to Rs. 4000 in 2 years?

2423672
e R R v wepgfe =t wiaay ¥. 3240 IR Y F. 2 9 § 40007
11.36%
A
11.36%
11.11%
B
11.11%
11.40%
C
11.40%
11%
D
11%

Correct Ans : B

Subject : General Maths
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Q.No: 60 Solve:

2428559
3+4x10-25-(5x 20~ 5)
B PR
344 x10-25-(5x20~5)
1]
A
1]
-2
B
-2
2
C
2
6
D
6

Correct Ans : B

Subject : General Maths

Q.No: 61 Solve:

2428640
{39.6 + 6 +4.9 x 2.9 -10.26 of 7 + [41.4 + 2 + 33.31 of 2.5 - 899.8 + 4 + (100.1 of 48.7 - 80.57 of 68.96)]}
ks
{39.6 + 6 +4.9x2.9-7P110.26 + [41.4 + 2 + 2.5 P 33.31 - 899.8 + 4 + (48.7 I 100.1 - 68.96 &I 80.57)]}
-850.2222
A
-850.2222
-455.2222
B
-455.2222
-897.2222
C
-897.2222
-853.2222
D
-853.2222

Correct Ans : D

Subject : General Maths

Q.No: 62 Express the following ratio in the simplest form.
2429420
225:750 : 1575

ST PI WAdH T4 H TR P
225: 750 : 1575
6:7:32

6:7:32
3:10:21

3:10:21
5:7:45

5:7:45
D 7:5:10
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7:5:10

Correct Ans : B

Subject : General Maths

Q.No: 63 The average of runs of a cricket player of 10 innings was 32. How many runs must he make in his next innings so as to increase his average of runs by 4?

2432540

T fordhe ATt & 10 Wi & T &1 ofd 32 o1l I oot snreft Rt & fbam 1 w9 iR arfs Q9@ AT 1 oid 4 ag e

76
A

76

78
B

78

80
o

80

75
D

75

Correct Ans : A

Subject : General Maths

Q.No: 64 The average of first 19 multiples of 12 is

2432560
12 % TG 19 TOTH! $T S7Ed §
110
A
110
110.5
B
110.5
120
c
120
220
D
220

Correct Ans : C

Subject : General Maths

Q.No: 65 ; : : s : *e?
5433108 What should comein place of question mark in the following number series?
siy ly73io
13 13 26
Frafata sear-saer § waieg (2) F w409 I HT JE Angy?
si+ Zi73or
13 13 26
142
26
A
142
26
162
B
162
C 152
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<3
163

142
26

143
26

Correct Ans : C

Subject : General Maths

Q.No: 66 The average of five consecutive numbers is 9. Then find the middle number.

2433859
oie AN Sl &1 T 9 21 T i BT gem I S|
10
A
10
9
B
9
11
c
11
12
D
12

Correct Ans : B

Subject : General Maths

434780 red- L =1Db;b-t = candc-t =a & Lt
2434759 1pdT 7 Py ¢ ¢ “. Then find the value of: ab " bc " ca

1

N G O G SN S :
gfga-; = bib-g cdRc-2 AR W w Toe BT HF JId B

0
A

0

-3
B

-3

3
c

3

1
D

1

Correct Ans : B

Subject : General Maths

Q.No: 68 The marked price of a motorcycle is Rs. 70,560, which is 12% above the cost price. If this motorcycle is sold at 5% discount, then the percentage of profit earned is
2435256

% Aicarsiaa ot fRfga S 30 70,560 B, S A T § 12% S 1 3 78 Hexasiea 5% ge R a0t ard g, o siffa ard o1 ufasr g2

4.8%
A

4.8%

6.4%
B

6.4%

C 10.5%
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10.5%

12.2%

12.2%
Correct Ans : B

Subject : General Maths

Q.No: 69 A purse has Rs. 80 in the form of Rs. 2, Rs. 1, 50 Paise and 10 Paise coins in the ratio of 2:3:5:5, find the total number of coins.

2435445

F 74 A 80 IUY 2 I, 1 Y, 50 T 3R 10 TY F Ryaw! & FU & 2:3:5:5 F oud # ¥, @ Riaw! 3 Fa wem 719 H

105 coins
A

105 RE&

120 coins
B

120 f4aF

135 coins
¢

135 Ryad

150 coins
D

150 Ras

Correct Ans : B

Subject : General Maths

Q.No: 70 Find the number of degree in one and one third of right angles.

2437513
@ F 5ht oIk v & o fers @ e 9 |
902
A
90°
1202
B
1200
160°
C
160°
180°
D
1800

Correct Ans : B

Subject : General Maths

Q.No: 71 If in a certain code, GARIMA is written as 725432 and TINA as 6482. How is MARTINA written is that code?

2426498

I T AT B U ¥ GARIMA $T 725432 3R TINA T 6482 T ST 1 99 FT H MARTINA &I H foran S 2

3256482
A

3256482

3265842
B

3265842

3645862
€

3645862

D 3658426
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3658426

Correct Ans : A
Subject : Mental Ability

Q.No: 72 In a code language, MUSICAL is written as XQREQWH. How will REPLACE be written as in that language?

2434449

Td Foe U1 H, MUSICAL & XQREQWH & &9  forar wirr 81 ot It W1 # REPLACE &1 &9 forar smem?

UAWHIYF
A

UAWHIYF

WAUHIYF
B

WAUHIYF

WAUHFYJ
C

WAUHFYJ

UAVHFYJ
D

UAVHFYJ

Correct Ans : A
Subject : Mental Ability

Q.No: 73 If 374 is coded as 62116, 145 is coded as 21220, then 743 is coded as

2434939

e 374 BT 62116 F ®F H, 145 HI 21220 F ¥ & Feas [$d1 911 8, W 743 P $ Heds (a1 seim-

21169
A

21169

141212
B

141212

141612
o

141612

21129
D

21129

Correct Ans : B
Subject : Mental Ability

Q.No: 74 In a code language, LIFE is written as 11731, then in that code language, how NICE may be written?

2434963

TF Fe U &, LIFE F 11731 F U § ferar o g, & S ge U &, NICE &t $3 fran o gaan 32

13156
A

13156

13701
B

13701

24501
c

24501

15601
D

15601

Correct Ans : B

Subject : Mental Ability

Q.No: 75
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2435504 Two statements are given followed by three conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at variance with commonly knowr
logically follow(s) from the statements.

Statements :

All Labours are Workers.

All Workers are Agents.
Conclusions :

1. Some agents are workers.
II. Some agents are labours..

III. All workers are labours.

A YAl F T1g I Fsmd T 1, 11 9 111 T e ¥ 3T U et ) O A g, o @ A o AR W I @l & any faeRer v &, w fofg & i e 8§ @ 9 W frey R e weel @ ar
PU :

a2t meiy, B §

ot wrfard, wRaff §

fpe

1. $O YA, SRt §

11. $o URIFR, ToeR &

111 Wf Frad, aeeR §

Only conclusion II and III follow

A
e Frepy 11 3R I1T SRR #7d §
Only conclusion I and II follow
B
Fad ey 1 3R 11 SR B §
Only conclusion I and III follow
C
ae ey T 3R 11 SFTERYI oXd §
All the conclusions I, IT and III follow
D

Toft fsf 1, 11 3R IIT SR R
Correct Ans : B
Subject : Mental Ability

Q.No: 76 In question below are three statements followed by three conclusions numbered I, IT and III. You have to take the given statements to be true even if they seem to be at varia
2435545 hich of the given conclusions logically follows from the given statements.

Statements:

1. Some cycles are tiles.
II. All tiles are marbles.
III. All marbles are pens.
Conclusions:

I. All pens are tiles.

II. All marbles are cycles.

III. Some cycles are pens.

1 few e iy & <A P SR S g o e 1, 11 9R 111 3T T B st T Y Sl b I A B, IR J IRaa: 1 aud @ e Wl S 8, smuet fofg v § 5 R g st A
HU:

1. P ITEfha TR B

11, oft eEed T

111. i wieed 9 71

e

1 9+ U7 T B

11 Wt e wEfaa g1

1II. $O WRfHd 8

Either conclusion I or III follows.

1t fep 1 97 11T SRR R B

B Neither conclusion I nor II follows.
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T fepef 1 3R T € 11 SR R B
Only conclusion III follows.
C
Fad s 111 3R Ha1 8
Both conclusions I and II follows.
D

2 B 1 iR 11 SR R B
Correct Ans : C
Subject : Mental Ability

Q.No: 77 What is the least number of cuts required to form exactly 240 identical pieces from a cube?

2438440
TF 91 A SlF 240 AN ¢ha T & T 31a=TS Bl 31 Fdad JHd T 87
239
A
239
16
B
16
24
c
24
19
D
19

Correct Ans : B
Subject : Mental Ability

Q.No: 78 In the question given below, three statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance
2439104 (ecide which of the given conclusions, if any follow from the given statements.

Statements:

Some animal are children.
No children are men.

All men are females.
Conclusions:

I. Some animal are females.

II. Some men are not animal.

AR R ey H fF T g 9 var @ sy 1aur 11 RY TG § 1 sue RY TR wyE @) 9 7 R, WA 8 98 wdad audi 8 P el 919 91 9 Sl $ SR TR S Si9 ST 3 §
T

FO U TA T

BIE 7= gou 7 &1

o gy Are )

Frp:

1. $B UY W 2

11. $© T¥9 U T &1

Neither conclusion I nor II follows

T s 1 3R T 11 TR FRaT R

Both conclusion I and II follow

frpy 1 IR 11 QT SRR A B

Only conclusion I follows

Faa e 1 e HRar 71

D Only conclusion II follows
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HAe T%pY LI G Bl gl

Correct Ans : A
Subject : Mental Ability

Q.No: 79 If‘clock’ is called ‘television’, ‘television’ is called ‘radio’, radio is called 'oven’, ‘oven’ is called ‘grinder’ and ‘grinder” is called ‘iron’, in what will a lady bake?

2439287
Ife agl B TS, Sefifae @1 XeAr, A P ST, ‘G BT WY AR WESY BT WI6T Fel WG, Tl W Afga b e
Radio
A
Ricu]
Oven
B
e
Grinder
(o]
TR
Iron
D
it

Correct Ans : C
Subject : Mental Ability

Q.No: 80 Five horses Lucky, Blazer, Blacksmith, Diesel and Franklin are stand in row for a race in North direction. Lucky is right side of Blazer and left side of Blacksmith. Franklin is in th
2439547 piesel. Which horse is in the middle?

IR fo=n B g F g o 9IS T, KR, KB, ITd AR Fpied Far § TS T d@! KoR F AR R B F 18 3R 31 Fpiem 7 & 1S ok ¥ <o ot F e iR ) i

Franklin
A

HeRE

Lucky
B

qB

Blazer
C

R

Diesel
D

S

Correct Ans : B

Subject : Mental Ability

Q.No: 81 Ifin a certain code language ‘BEAUTIFUL' is coded as ‘573041208’ and ‘BUTTER' is coded as ‘504479, then how will ‘FUTURE’ be coded in that language?

2442182
I u AT H1g T § ‘BEAUTIFUL &1 '573041208", ‘BUTTER' &1 *504479°rar o1t 2, @ 'FUTURE’ 31 39 1w & &9 feran smamm?
204097
A
204097
201497
B
201497
704092
C
704092
204079
D
204079

Correct Ans : A

Subject : Mental Ability
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Q.No: 82 IfM = 13 and MAD = 52, then MOOD = ?

2442211
IfE M = 13 3R MAD = 52, @ MOOD = ?
11700
A
11700
10181
B
10181
12500
C
12500
95000
D
95000

Correct Ans : A
Subject : Mental Ability

Q.No: 83 From the given alternative words, select the word which cannot be formed using the letters of the given word.

2442793
DYNAMISM
fow e Ffoues weal # ¥ 9% ea I S0t W MY Weg F 1R B RN IR TG ST S Wl
DYNAMISM
Mansed

A
Mansed
Dyan

B
Dyan
Yands

C
Yands
Dynisma

D
Dynisma

Correct Ans : A
Subject : Mental Ability

Q.No: 84 Which one word can be formed from the following letters ?

2442863
bsrecnuo
Frofifed sierl § P 91 T Wea ST S T 82
bsrecnuo
trowser

A
trowser
bouncers

B
bouncers
browser

Cc
browser
powder

D
powder

Correct Ans : B
Subject : Mental Ability
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QUNO: BY P FV11 ST IR LI IULIT L U My SLTNGL L TSI YL SUTH IS W UG MY W TS W e ST

2443003 ANNOUNCEMENTS
Frofafad fowedl & 3 a5 wrex gAY S R TTC 16g F 31eR & FalT e ST S wehell|
ANNOUNCEMENTS
Cement

A
Cement
Noun

B
Noun
Counter

C
Counter
Tense

D
Tense

Correct Ans : C
Subject : Mental Ability

Q.No: 86 A and B can do a piece of work in 12 days; B and C in 17 days and A and C in 20 days. In what time can they do it, all working together?

2423763
A SR B TF B $Y 12 RAT H R 995 §; 17 Rl & B ofR € 3R 20 RATH A 3R €. 3 Wil o a1y 17 Q) g 39 e g & R 9aha 82
87/2 days
A
87/2f@A
869/55 days
B
869/55 fam1
510/49 days
c
510/49 7
982/31 days
D

982/31 f&7
Correct Ans : C

Subject : General Aptitude

Q.No: 87 1If one side of a square is 7 cm then, find its area.

2426191

% v o 3 v yor 7 Al B, @ SUHT S 1 P

28 cm?
A

28 {FR

49 cm?
B

49 3R

59 cm?
C

59 dHr

65 cm?
D

65 dFR

Correct Ans : B
Subject : General Aptitude

GET IT ON

Google Play



https://applink.adda247.com/d/XhqWf9lSap

Addal247

Q.NO: 88 IiIU UIC PAIdUCIUBIaAlIl > DAdT 1L dITd 1> tO0V U™ alld ucigul Iy 10 .

2426212
Ifg &1 480 e § 3R Far$ 16 F+ § A FAATR &7 38R g8
30 cm
A
30 iR
50 cm
B
50 AR
64 cm
c
64 YR
45 cm
D
45 FaHR

Correct Ans : A

Subject : General Aptitude

Q.No: 89 Calculate the cuboid’s surface area if length is 6 cm, breadth is 8 cm and height is 12 cm.

2426216

FRIGS S Gag 4 B T B AR IS 6 ifl B, o Mo 8 AW R ok g 12 W R

230 cm?
A

230 {H®

330 cm?
B

330 dF:

432 cm?
(o}

432 3

150 cm?
D

150 &HR

Correct Ans : C

Subject : General Aptitude

Q.No: 90 Which of the following is divisible by 10?

2427610
frafefea & § 3 10 & fursa 2
76456896430

A
76456896430
87543225891

B
87543225891
78865431368

c
78865431368
9874421346

D
9874421346

Correct Ans : A

Subject : General Aptitude

Q.No: 91 Which of the following is divisible by 6?
2427623

GET IT ON

Google Play
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THICIRdd H § &I 6 4 IdHIY g7

8764678999865
A

8764678999865

468965321578005
B

468965321578005

585689963123062
Cc

585689963123062

765415788532159743950
D

765415788532159743950
Correct Ans : C

Subject : General Aptitude

Q.No: 92 266421687416A is divisible by 16 find the value of A?

2427676
266421687416A, 16 9 favTsd § A &1 A7 1@ BRI
2
A
2
6
B
6
10
c
10
12
D
12

Correct Ans : C

Subject : General Aptitude

Q.No: 93 How many pair(s) of x and y satisfy the equations 4x + 6y = 16 and 6x + 9y = 24?

2431202
x R y ¥ a7 TH 4x + 6y = 16 TUT 6x + 9y = 24 PI UJP I &7
1]
A
1]
1
B
1
o0
Cc
%)
2
D
2

Correct Ans : C

Subject : General Aptitude

Q.No: 94 The sum of a two-digit number and its reverse is k times the sum of its digits. Find the value of k.
2431205

T 3 3T T TS 3R IqP fAwdia BT 40T IGF Sl F I BT k T BT 81 k BT A T Sl
9

GET IT ON
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B v
10
11
Cc
11
3
D
3

Correct Ans : C

Subject : General Aptitude

Q.No: 95 Each interior angle of a regular polygon is twice its exterior angle then the number of sides of the regular polygon is:

2431346
% Faf 95U 31 AT SiaiS B0 3TF aedt P01 B G 7, O Fafta sgue 3 yeeh 3 g §:
A g
B s
¢ 1
> 5

Correct Ans : D

Subject : General Aptitude

Q.No: 96 A cone block of slant height 10 ¢cm and radius 7 ¢cm is surmounted by a cube. Find the cost of painting the total surface area of the solid so formed, at the rate of 5 per sq. ¢r

2433790
10 It Rt S SR 7 It B A X & Yed W T UF N g1 B S UBR I 319 & o1 i SFwd 1 5 Ui ol eft @Y ) T 9 arTa 3 Sl
3600
A
3600
3650
B
3650
4000
c
4000
4200
D
4200

Correct Ans : A

Subject : General Aptitude

2:1303:89170 The length of a field is %th of its breath. If its area is 3000 sq. meters, then the breath
of the fieldis-
F & £ FATE EdT AEEE £ 51 9% 79 AFEe 3000 T AR S, 97 AE
fr g T E- X
80 meters
A
80 ez
94.8 meters
B
94.8 Hicx
85 meters
C
85 Miex
70 meters
D

70 Hi®
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Correct Ans : B

Subject : General Aptitude

Q.No: 98 A and B can together do a piece of work in 6 days and A alone can do it in 9 days. The number of days that B will take to do it alone is -

2436092

A SR B aaR @ &1 3 6 o1 H 70 IR 9ad § ol A e ¥ 9 a1 H IR FHd1 }1 B B 3 SH HH B 4 A forw o R A wem R -

18 days
A

18 7

24 days
B

24 &

9 days
c

o e

12 days
D

12fF

Correct Ans : A

Subject : General Aptitude

Q.No: 99 The ratio of ages of two family member is 6 : 11 and the age of one of them is greater than the other by 35 years. The sum of their ages in year is:

2436894

IRER & <) Tl F SR FT U 6:11 § T4 I A TF F o1g 35 a9 F o4 31 9 & A1 3y &1 907 I PR

65 years
A

65 af

102 years
B

102 T

119 years
c

119 a9

87 years
D

87 @

Correct Ans : C

Subject : General Aptitude

Q.No: 100 What should come in place of question Mark ‘?’ in the following number series?

2444754
95, 126.5, 138, 175.5, 189, 232.5,
Frafifea dom dae # 7 g 2’ & R W 1 S
95, 126.5, 138, 175.5, 189, 232.5, __
256
A
256
272
B
272
247.5
C
247.5
248
D
248

Correct Ans : D

Subject : General Aptitude
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